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1 Bob der Briickenmeister

13 Punkte

Ein Seil mit homogener Dichteverteilung, Masse m und Lange L sei von —x/2 bis /2 befestigt.
Es beriiht den Boden nicht und nur die Gravitationskraft ﬁg wirkt auf das Seil. Unser Ziel ist
es, einen Ausdruck fir y(z) zu finden um die Form des Seils als Funktion von x und den
Anfangsbedingungen zu erhalten.

(a) (1 Punkt) Schreibe die infinitesimale Bogenlange ds als Funktion von dzx und y'(z). Hi-

erbei ist y'(z) = dzl—(wm).

(b) (2 Punkte) In Ruhelage heben sich die Kréfte, die auf ein infinitesimales Massenelement
dm wirken, in z- und y-Richtung jeweils gegenseitig auf. Stelle damit die Formeln fiir die
Seilkraft in xz-Richtung und fiir die Ableitungen der Seilkraft in y-Richtung auf. Nutze
dafiir die Formel aus (a).

(c¢) (2 Punkte) In welcher Beziehung steht die Seilkraft zum Seil? Welche Relation lésst
sich daraus ableiten? Nutze diese um einen weiteren Ausdruck fiir die Ableitung der
Seilkraft in y-Richtung zu erhalten und setzte diesen mit dem aus (b) gleich um die
Differentialgleichung zweiter Ordnung zu erhalten.

(d) (3 Punkte) Lose die Differentialgleichung zweiter Ordnung.
(e) (2 Punkte) Berechne L(xg)

(f) (3 Punkte) Berechne die Kraft in z-Richtung F,(L,z) fiir den Fall, dass das Seil fast
vollstandig gespannt ist und fiir y(—zo/2) = 0 und y(z/2) = 0. Nimm dazu an, dass die
Seilkraft in z-Richtung grofler ist als die Gewichtskraft.

Figure 1.1: Hangebriicke im Hunsriickgebirge
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2 Kernfusion: Bewegung geladener Teilchen im
Tokamak

13 Punkte

Ein Teilchen mit Masse m und Ladung ¢ befindet sich in einem homogenen zeitlich konstan-
ten Magnetfeld B. Zusitzlich wirkt eine zeitlich konstante Kraft F auf das Teilchen. Die
Geschwindigkeit des Teilchens kann in parallel und normal Komponenten relativ zum Magnet-
feld v = v, + v aufgespalten werden.

Die Bewegungsgleichungen des Teilchens sind durch

m% =q(v x B) + F, (2.1)

bestimmt.

(a) (3 Punkte) Nun wollen wir die vollstdndige Losung des Problems bestimmen. Hier-
fir wiahlen wir unser Koordinatensystem so, dass F = F|é, und B = Bé,. Nun
konnen wir letzteres in Gleichung 2.1 einsetzen. Lose dieses System an linearen Dif-
ferentialgleichungen erster Ordnung. Als Ansatz fiir die homogene Losung eignet sich
v, (t) = Acos(wt) + Bsin(wt), v,(t) = Ccos(wt) + Dsin(wt) und v,(t) = const., vergiss
die partikuldre Losung jedoch nicht!

(b) (2 Punkte) Lose die Bewegungsgleichungen fiir die Anfangsbedingungen v(0) = (0, v, —
F/(¢B),v)) und r(0) = (0,0,0). Mache auBerdem eine qualitative Skizze der Kreisbah-
nen der Elektronen und Ionen. Was ist deren (Gyrations)radius p?

(¢) (1 Punkte) Interpretiere die homogene und partikuldre Losung.

Wir nennen von nun an den xy-Anteil der homogenen Losung v, und die partikulare Lo-
sung vp, oft Driftgeschwindigkeit genannt. Unsere Losung fiir v, wird im allgemeinen Fall v
genannt.

Betrachten wir nun das konkrete Beispiel eines Tokamak Plasmareaktor. Das wichtigste
Ziel eines Plasmareaktors ist das Plasma (geladene Teilchen) davor zu Schiitzen seine innere
Oberflache zu berithren. Wir nutzen zunéchst das Koordinatensystem in Abbildung 2.1.

V7

)

Figure 2.1: Skizze von unserem Koordinatensystem.

In den Punkten (a-c) haben wir gelernt, dass jede Kraft F; zu einem Drift vp fihrt der
normal auf B und F, steht. Bis auf den Drift, bewegen sich die Teilchen, fiir kleinen Gyra-
tionsradius p, im Mittel entlang der Feldlinien. Fiir unseren Tokamak wollen wir wissen, wie
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sich Teilchen verhalten, die sich entlang von B = Bé, mit einem Kriimmungsradius von R
bewegen.

(d) (1 Punkte) Zu welchem Drift fithrt die dadurch entstehende Fliehkraft F,? Was passiert
dadurch mit den positiv und negativ geladenen Teilchen?

(e) (2 Punkte) Wir fithren nun eine Magnetfeldkomponente in z-Richtung ein. Daher ist
B = B,é, + B.é,. Bestimme das passende Verhéltnis von B, zu By fiir ein Elektron mit
einer Geschwindigkeit von v, um v, = 0 zu erhalten. Damit ist sichergestellt, dass die
Teilchen im Reakter bleiben. Méglicherweise hilfreich: B, « B, und By ~ B.
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Field
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Figure 2.2: Schmatischer Aufbau eines Tokamak.

(f) (4 Punkte) Dieser quick fix funktioniert leider nur fir Teilchen mit einer bestimmten
Geschwindigkeit. Es gibt jedoch auch eine noch bessere Losung. Hierfiir nehmen wir an,
dass nun B = B,é, + By€y. Die Magnetfeldlinien winden sich daher um den Torus, siche
Abbildung 2.2. Man kann zeigen dass die Bewegungsgleichungen durch

d9 B
T —OUH + vp cos(6)
t B (2.2)
o~ vpsin(0)
o7~ Upsin
gegeben sind. Lose fir r(0). Verwende dafir g;’qf] « 1 um zu zeigen, dass r(f) zwischen

zwei Umkehrpunkten oszilliert und die Teilchen daher im Tokamak bleiben!
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3 Gezeiten

13 Punkte

Wenn die Erde um den gemeinsamen Schwerpunkt des Systems Mond-Erde kreist, kompensieren
sich die Gravitationskraft des Mondes und die Fliehkraft nur im Massenmittelpunkt der Erde.
An allen Punkten der Erdoberfliche wirken drei Kréifte: die Gravitationskraft der Erde, die
Gravitationskraft des Mondes und die Fliehkraft. Letztere stammt von der Rotation der Erde
um eine Achse durch ihren Mittelpunkt und von der Revolution des Erdmittelpunkt um den
gemeinsamen Schwerpunkt (Revolution ohne Rotation). Die Differenz der Gravitationskraft
des Mondes und der Fliehkraft durch die Revolution ohne Rotation bildet die Gezeitenkraft.

v
N

Figure 3.2: Schematische Skizze von einer Revolution ohne Rotation. Links: Ein starres
Kreuz kreist um S, der Verlauf des Massenmittelpunkts ist skizziert. Rechts: Die Verldaufe
Eckpunkte des Kreuzes sind skizziert. Sie durchlaufen Kreise mit dem gleichen Radius.

In diesem Beispiel nehmen wir alle Korper als kugelsymmetrisch an und ihre Bahnen als
Kreisbahnen. Wir ignorieren weiters die Anderung des Gravitationspotentials der Erde, welche
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durch die Verschiebung von Massen durch die Gezeitenbeschleunigung auftreten. Den Radius
der Erde schreiben wir als Rg, die Distanz zwischen den Massenmittelpunkten von Mond und
Erde als dy; und die von Sonne und Erde ds. Die Massen nennen wir sinngeméfl. Wir haben
daher RE = 6371 km, dM =4. 105 km, ds =15- 108 km, ME =6- 1024 kg, MM =7 1022 kg,

3

Mg =2-10% kg, G = 6.67- 107 22

(a) (1 Punkt) Auf den mondnéchsten Punkt der Erdoberfliche wirkt eine stérkere Gravita-
tionskraft als auf den Erdmittelpunkt. Bestimme die Differenz dieser Krafte und zeige,
dass man sie nahungsweise als

Fgra<dM - RE) - Fgra(dM) ~ 43
M

(3.1)

schreiben kann.

Wir wollen nun das Gezeitenpotential des Mondes, ®y(r, 6), als Funktion von Abstand zum
Massenmittelpunkt der Erde und einem Winkel herleiten. Wir gehen dazu in ein Koordinaten-
system tiiber, dessen Ursprung sich im Massenmittelpunkt der Erde befindet, allerdings nicht
mit der Erde mitrotiert. Desweiteren nutzen wir Kugelkoordinaten. Wir fiihren zusétzlich eine
z-Achse, (6 = 0) , ein, die immer zum Mond zeigt, siehe Abbildung 3.1. Dadurch sind alle
Punkte, die die gleichen (r, fy;) Koordinaten haben gleich weit vom Mond entfernt.

(b) (2 Punkte) Nutze den Fakt, dass sich die Fliehkraft durch die Revolution ohne Rotation
(RoR), siehe Abbildung 3.2, und die Gravitionskraft durch den Mond im Massenmit-
telpunkt autheben. Daher ist die Fliehkraft der RoR an jedem Punkt auf der Erde im
Betrag gleich der Gravitationskraft des Mondes im Massenmittelpunkt der Erde, zeigt
aber in die entgegengesetzte Richtung. Zeige, dass —V®y; die Zentrifugalkraft der RoR
ist. Hierbei ist

(I)Zf = 5 T COS (01\/[)7 (32)

das zugehorige Potential der RoR.

(c) (5 Punkte) Das Gezeitenpotential des Mondes @y = Pgpy + Pye, wobei Py, das Po-
tentials durch die Gravitation den Mondes ist. Expandiere dieses um zu zeigen, dass
naherungsweise

GM 172
et UL

D\ (6 ~ -
m(On, 7) dat 182,

(3cos(20n) + 1) (3.3)

gilt. Nutze dafiir cos(x)? = (1 + cos(2z)) und vernachléssige Terme die mit (dLM)4 oder
héher Ordnung skalieren.

Der Wasserstand des Meeres wird durch das Gezeitenpotential, ®¢ (s, 0s,7) = Pum(Opr, 1)+
Pg(0g,r) etwas verandert, wobei ®g(fg,7) das Gezeitenpotential der Sonne ist. Die Anderung
der Hohe, also die Abweichung vom durchschnittlichen Meeresspiegel, nennen wir h(60y, 0s, 7).

(d) (1 Punkt) In welchem Verhaltnis steht h(6y, 0s,7) zu ®¢? Hinweis: Die Meeresoberflache
ist eine Equipotentialflache.
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(e) (2 Punkte) Skizziere die Konstellationen fiir die die Flut maximal bzw minmal ist. Was
ist das Verhaltnis dieser beiden Fluthohen?

(f) (2 Punkte) Wir nutzen das Mittelmeer als Gezeitenkraftwerk. Nimm an, dass du die
potentielle Energie des Hohenunterschiedes in beide Richtungen mit einem Wirkungsgrad
von 0.5 nutzen kannst. Ignoriere den Einfluss der Sonne. Die Fléche des Mittelmeeres
umfasst 2.5 Millionen km?. Wie viel GW Leistung hat unser Mittelmeerkraftwerk?
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4 A glimpse on quantum cryptography

13 Punkte Markus Aichhorn, TU Graz

In this example we want to show how quantum mechanics can be used to minimize the risk
that an unwanted intruder/spy intercepts messages. In the following we assume that the sender
Alice (A) wants to send a sequence of bits to a receiver Bob (B).

We will encode the bits through spins. The spin operator is S = %&, with ; the three Pauli
matrices. We use |0, = +1) and |0, = —1) for the eigenstates of S, with eigenvalues +2 and
_h

5-
Lets now consider measurments of spins along an axis u in the (z, z)-plane, defined by

e, =cosfe, +sinfe,, (4.1)

with the spin operator projected to this axis

A

h
S-e, = E(COSQ&Z +s8infa,) . (4.2)

1) (2 points) Show that this operator has eigenstates

low =+1) = cos(0/2)|o, = +1) + sin(6/2)|o, = —1) (4.3)
o, = —1) = —sin(6/2)|o, = +1) + cos(6/2)|o, = —1)
with eigenvalues +%/2 and —h/2, resp. Assuming a state prepared in |0, = +1), calculate

the probabilities p of finding ig when measuring the projection of the spin on the u
axis.

After this measurement, we again measure the z component of the spin.

2) (1 points) Show that the probability to find again the state |0, = +1) is given by
Py (0) = (1 + cos?6). The identity cos?(6/2) + sin*(6/2) = (1 + cos?#)/2 might be
useful.

3) (1 points) Starting from an initial state |0, = —1), what is the probability P__(0) to find
again |0, = —1) in the second measurement?

We now prepare a pair (a,b) of spins in a source. The spin state of the two particles is given
by

1 a __ b a _ O'b:—
|X>=\/—§(|02—+1>®|0'z—+1>+!0z— D®lo: =-1)) (4.5)

4) (1 points) Use the identities |0, = +1) = —5(Jo. = +1) £ |0, = —1)) and rewrite the
state |x) in terms of |0, = +1).

We now separate the two spins, and send the part a to Alice, and part b to Bob. Although
the spins are separated in space, they still are entangled in their spin sector.

5) (1 points) Alice now measures only her spin, i.e. part a. She can do it along the z
axis (0, = 0) or along the z axis (, = 7/2). What are the possible results of these
measurements, their probabilities, and the states after the measurements?

7
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6)

8)

(1 points) After Alice’s measurement, Bob measures the spin of particle b along an axis
up of angle 6,. Give the possible reaults of Bob’s measurements and their probabilities
in terms of Alics’s results in the four following configurations: (a) 6, = 0,6, = 0, (b)
0, = 0,0, = 7/2, (c) 0, = /2,6, =0, (d) 6, = 7/2,0, = w/2. In which cases do the

measurments of Alice and Bob give with certainity the same results?

(1 point) Consider now the situation 6, = 0. Suppose that a spy is sitting between the
source and Bob, and has access to part b of the system before it reaches Bob. The spy
measures the part b along an axis u, of angle #,. After that, Bob also measures part b,
but along 6, = 0. What is the probability P(0;) as function of 65 that Alice and Bob
measure the same result?

(3 point) What is the expectation value that Alice and Bob measure the same result, if
the spy chooses 05 = 0 or 05 = 7/2 at random?

From what we have just learned, we can set up the following protocol to communicate
securely:

i)

ii)

iii)

iv)

v)

Alice controls the source and prepares and ordered sequence of N pairs of spins, she keeps
the a parts and sends the b parts towards Bob.

For each spin, Alice and Bob measure either the z or the x component. They choose the
direction independently of each other, without correlation, with probability 1/2. They
both register the results.

Bob selects a subset N ~ N/2. He communicates openly to Alice (by radio etc.) the
axis and the results of the measurements for each event in this subset.

Alice compares for this subset her axes and her results with those communicated by Bob.
By doing so, she can tell whether there is a spy or not. If a spy is spotted, the whole
communication is dismissed.

If no spy is spotted, the remaining spins can be used to transmit information (the details
how do not matter here).

Final questions:

9)

10)

(1 points) If she is allowed to compare her results with the ones from Bob, how can Alice
be sure that a spy is present?

(1 points) What is the probability that an operating spy will escape being detected?
Calculate this probability for N’ = 200.
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5 Stabilitat einer Flammenfront

11 Punkte Felix Halbwedl

Ein einseitig geschlossenes Rohr mit einem Durchmesser der Gréflenordnung [ ist mit einem
brennbaren Gasgemisch 1 der Dichte p; gefiillt. Nun wird das Rohrende bis zur Entziindung
des Gases erhitzt, es bildet sich eine Flammenfront von konstanter Dicke ¢ aus, die sich vom
Rohrende weg mit gleichméfiiger Geschwindigkeit ausbreitet und als Verbrennungsprodukt ein
Gasgemisch 2 der Dichte p, hinterlésst. Das restliche Gas moge sich allenfalls parallel zum
Rohr bewegen. (Sieche Abbildung 5.1)

b

Figure 5.1: Langsame Verbrennung in einem Rohr. Gasgemisch 1 ist unverbrannt,
Gasgemisch 2 ist bereits verbrannt. Die Verbrennungsfront erstreckt sich von a nach b, und
lauft vom Rohrende weg in negative z-Richtung.

1. (1 Punkt) Zur Vereinfachung des Problems werden folgende zusétzliche Annahmen getrof-
fen:

Annahme 1 Die Dicke ¢ der Flammenfront ist klein gegeniiber den Rohrabmessungen
[ und kann somit vernachlassigt werden.

Annahme 2 Die Flammenfront breitet sich weit unter der Schallgeschwindigkeit ¢ aus.

Annahme 1 erlaubt es, den chemischen Verbrennungsvorgang gesondert von der physikalis-
chen Gassstromung zu behandeln. Annahme 2 rechtfertigt die Verwendung eines idealen
inkompressiblen reibungsfreien Gasmodells. Begriinde die Annahmen. Folgende Gréfien
konnten dabei hilfreich sein.

v1 ... Ausbreitungsgeschwindigkeit der Verbrennung )
c...Schallgeschwindigkeit
7 ... Charakteristische Reaktionszeit ; (5.1)

Tfr ... mittlere freie Flugzeit eines Molekiils

X - . . Temperaturleitfahigkeit

J

Untersuche die Stabilitéit der gegebenen Flammenfront gegeniiber kleinen Stérungen ¢ ~ DetFy—iwt
normal zur Flammenfront. Wahle hierfiir ein Koordinatensystem, in dem die ungestorte Flam-
menfront ruht und biindig zur yz-Ebene liegt. Die Bewegungsgleichungen fiir die Abweichungen

9
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v/, p' von v ~ é, und p lauten

ov’ 1
V-v =0, — + (VV)V = —=VY)/, 5.2
v o T (VV)v VP (5.2)
wobei fur p, p, p/, v, v/ die Dichten, Driicke und Geschwindigkeiten der Gasgemische 1 und 2
einzusetzen sind. Weiters ist an der Flammenfront die Tangentialkomponente stetig.

¢ ¢
U,ly + Ula—y = Uéy + Uga—y (53)
Fiir die Normalkomponente der Geschwindigkeit gilt
, 0C ¢
Uly—E:’Uéy—g:O (54)

Wichtig: Die Abweichungen v’, p’ von den Gleichgewichtsgrofien v, p konnen als z-unabhéngig
angesehen werden, v/ = v/(z,y,t), p' = p'(x,y,1).

2. (1 Punkt) Welche Gleichung fiir den Druck ergibt sich aus den Gleichungen (5.2)7

3. (1 Punkt) Die Storung ¢ ist periodisch in y und t. Welche Randbedingungen der Gle-
ichungen (5.2) sind kompatibel dazu? Wahle moglichst einfache Randbedingungen!

4. (2 Punkte) Bestimme die Druckabweichungen p)(z,y,t), py(x,y,t) in den Gasgemis-
chen 1 und 2 aus der in Unterpunkt 2 bestimmten Gleichung unter Berticksichtigung
der angenommenen Randbedingungen. (Hinweis: starte mit einem geeigneten Exponen-
tialansatz)

5. (1 Punkt) Bestimme eine homogene Losung v'(x,y,t) der Gleichungen (5.2) fiir das Gas-
gemisch 2. Ist sie fiir den gesamten Bereich physikalisch sinnvoll? Es kann v, = 0
angenommen werden.

6. (1 Punkt) Aus den Driicken bestimme dann Geschwindigkeitsabweichungen v}, v/, fiir
beide Gasgemische 1, 2, abermals mit verschwindender z-Komponente. Beachte die ho-
mogene Losung aus dem vorherigen Unterpunkt.

7. (2 Punkt) Die erhaltenen Lésungen fir v/, p}, v, p, liefen sich prinzipiell in die Gle-
ichungen (5.4), (5.3) einsetzen, um ein Gleichungssystem fiir die Koeffizienten zu erhalten.
Eine langere Rechnung wiirde dann (unter Verwendung von pyv; = pavy) auf folgende Be-
dingung fiir deren Losbarkeit fiihren

Q2 (v1 + vy) + 2Qkvyvy + K2v1va(v) — v3) = 0, QO =iw (5.5)
Welche Losungen €2 sind fiir obiges Gleichungssystem moglich?

8. (2 Punkte) Was lasst sich tiber die Stabilitdat der Flammenfront aus 2 = iw aussagen?
Findet sich diese Modelllésung auch in der realen Welt? Warum (nicht)?

10
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6 Die Lichtgeschwindigkeit ist konstant, big deal?

6 Punkte

Zur Uberraschung vieler hat das Michelson Morley Experiment hat im Jahre 1865 gezeigt dass
sich Licht fiir jeden Beobachter mit der exakt gleichen Geschwindigkeit ¢ bewegt.

Wie allgemein bekannt ist, fiihrte dieser experimentelle Fakt zur Notwendigkeit der Lorentz
Transformation.

/

v v
t’=7<t—c—2) t=7<t'+c—2) (6.1)
' = (x —ovt) = (a +ot) (6.2)
v =y y=y (6.3)
2=z z =2, (6.4)

Versuchen wir als Erstes herauszufinden ob die Lichtgeschwindigkeit tatsdchlich invariant
unter der Lorenztransformation ist. Betrachten wir ein Photon (einen Lichtstrahl) das sich in
eine beliebige Richtung bewegt. Zum Zeitpunkt ¢; = 0 hat es die Position (x1, 41, 21) = (0,0,0).

Zum Zeitpunkt t, = 1/23 + y3 + 23 die Position (x2, s, 22).

(a) (1 Punkt) Zeige fiir das Photon, dass es auch im gestrichenen Bezugssystem die Geschwindigkeit
¢ besitzt.

Obwohl die Lichtgeschwindigkeit konstant ist, verandert sich die Wellenldnge A und damit
auch die Frequenz f einer Lichtwelle unter der Lorentztransformation.

>,/

A

Y
N\ S v
>>( / 1 "l 7Xl
x)(+) x/(+)
5 N —t
Figure 6.1: Skizze der Koordinatensysteme. Zum Zeitpunkt ¢’ = 0 tiberlappen sich die

Koordinatensysteme.

In Abbildung 6.1 sieht man eine Lichtwelle. Sei | (¢') die Position des letzten ausgesendeten
Wellentals und x4 (') die Position des vorletzten ausgesendeten Wellentals. Zu t’ = 0 gilt 2} = 0

11
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und z, = N, wobei letzteres die Wellenlange im bewegten Bezugssystem ist. Bestimme x5(t = 0)
und z1(t = 0) und damit die Wellenldnge im Laborsystem, denn A = z5(t = 0) — z1(t = 0).
Beachte dass sich Zeitpunkte auch transformieren!

(b) (2 Punkte) Bestimme )‘7/ und fo

Wir betrachten nun einen Koérper der Masse m. Er habe im bewegten System die Geschwindigkeit
v = 0 und im stationdren v;,, wobei in fur initial steht. Der Korper sendet gleichzeitig zwei
Photonen mit der gleichen Frequenz f’ in entgegengesetzte Richtung aus. Da beide im be-
wegten System die gleiche Frequenz und somit den gleichen Impuls haben sollte sich seine
Geschwindigkeit nicht &ndern, d.h. vg, = 0, wobei fin fir final steht.

(¢) (1 Punkt) Mit Hilfe des Ergebnisses des Punktes (b), bestimme die Frequenzen der beiden
Photonen im Ruhesystem f; und f,.

Als néchstes wollen wir uns die Gleichung fiir die Impulserhaltung im Ruhesystem ansehen,
diese ist

ManVfin + Pph,1 T Pph,2 = MinVin, (6.5)

wobei ppn1 und ppp o die Impulse von Photonen sind. Wir sehen, es existiert eine Massen-
differenz Am = mg, — mi,. AuBerdem hat der Kérper Energie AE = Ey, 1 + Epp 2 verloren.

(d) (2 Punkte) Bringe Am und AFE in Verbindung und interpretiere.

12
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7 Ein Atom im Kifig

11 Punkte

Wir wollen uns mit einem Atom in einem leeren optischen Kéfig (in seinem Inneren ist nur ein
Vakuum) beschéaftigen. Klassisch wiirde sich der Zustand des Atoms also nicht &ndern, da kein
elektromagnetisches Feld existiert. Wie ist diese Situation nun im quantenmechanischen Fall?
Normalerweise (in der Schrodingergleichung) machen wir das ja klassisch.

Der Einfachheit halber betrachten wir den eindimensionalen Fall mit nur einer Polarisation.
Die klassischen Losungen fiir das elektrische und magnetische Feld in einem optischen Kéfig
(E = 0 am Rand, wobei der Kéfig sich von x = 0 bis # = L, erstreckt) sind dann

E(r) = ) Ax(t)sin (kz) &, (7.1)

B(r) = > Ag(t)D(k) cos (kz) é.. (7.2)
k
A (t) beschreibt hier die Feldamplitude.

(a) (1 Punkt) Was sind die erlaubten Werte fiir £ um die Randbedingugnen zu erfiillen. Was
muss der Paramter D(k) sein damit die Maxwellgleichung

1 -

VxB=—FE (7.3)

2
erfiillt ist?
(b) (2 Punkte) Die Energie im EM Feld ist gegeben durch

1
H = f@ [50E2 + —BQ] (7.4)
2 Ho

Zeige dass man obige Gleichung als

QQ w?(Q?
H=Y [7,.3 + Tk (7.5)
k
schreiben kann, wobei Q) = A(k)Aj sei. Bestimme .

Nun quantisieren wir diese Hamiltonfunktion wie iiblich. Das bedeutet Qk — —z’hﬁ und

Qr — Qk Desweiteren fiihren wir Erzeuger und Vernichter
+ A w a h

+_ BT B 7.6

%=\ 300\ 2w (7.6)

(¢) (2 Punkte) Zeige, dass der Hamiltonoperator aus Punkt (b) durch H = Y hw(afag +3)
gegeben ist und berechne danach den elektrischen Feldoperator E indem du Qk durch
Erzeuger und Vernichter ausdriickst und in Gleichung 7.1 einsetzt.

ein.

13
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Als néchtes wollen wir den Hamiltonoperator des Gesamtsystems bestimmen. Wir nehmen
hierfiir an, dass das Atom gut durch ein Zweinieveausystem bestimmt ist. Sein Zustand ist also
durch

|¢> = Cg|¢g> + Ce‘¢e>

gegeben, wobei g for ground und e fiir exited state steht. Die interaktions-Hamiltonfunktion
ist gegeben durch H; = —eE -r. Wenn wir annehmen, dass die Grundzustandsenergie €, des
Atomsystems null ist, konnen wir die Gesamthamiltonian schreiben als

B = Y ho(t)afon+ ) +elvowd + S D) WoXwal il (1)

o=g,ecg'=g,e

Den letzten Term koénnen wir schreiben als

HI = Z fy;o_a; + fyk_aJra,; + zusatzliche Terme,
k

wobel o = |1 ){1,| und o~ = |thy){¢.|. Wir wollen den Zustand des Gesamtsystems als

90 = ¢olvgag, |0) + celte)]0) (7.8)

schreiben, wobei k; = w/L. |0) sei der Grundzustand des elektromagnetischen Feldes (der
Vakuum-state). a; |0) beschreibt den state in dem sich ein Photon in der niedrigsten Mode des
EM Feldes befindet.

(d) (1.5 Punkte) Bestimme 7;" und 7; .

(e) (3 Punkte) Nehmen wir an, dass hw(k;) = €.. Betimme die Zeitentwicklung von c,(t)
und ¢.(t) und interpretiere.

(f) (1.5 Punkte) Warum kénnen schwer andere states auler [¢y)a; [0) und [t,)|0) erreicht

werden? Warum konnen wir die zusétzliche Terme in H; zernachlassigen?

14
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8 Quantum Bomb Tester

12 Punkte

You have been drafted by the government to help in the demining effort in a former war-zone.
In particular, retreating forces have left very sensitive bombs in some of the sealed rooms. The
bombs are configured such that if even one photon of light is absorbed by the fuse (i.e. if
someone looks into the room), the bomb will go off. Each room has an input and output port
which can be hooked up to external devices. An empty room will let light go from the input to
the output ports unaffected, whilst a room with a bomb will explode if light is shone into the
input port and the bomb absorbs even just one photon.

[
[l

EMPTY

<: ). -

Figure 8.1: Quantum Bomb illustration.

Your task is to find a way of determining whether a room has a bomb in it without blowing
it up, so that specialised (limited and expensive) equipment can be devoted to defusing that
particular room. You would like to know with certainty whether a particular room had a bomb
in it. To start with, consider the setup (see figure 8.2) where the input and output ports are
hooked up in the lower arm of a Mach-Zehnder interferometer.

For the first part, let the beam-splitter have the effect:

1 /1 4
-5 (1)
. : 1 . (0
The state |0) is in vector notation 0 and |1) is 1

(a) (1 Punkte) Assume an empty room. Send a photon to input port |0). Which detector,
at the output port, will register the photon?

(b) (1 Punkte) Now assume that the room does contain a bomb. Again, send a photon to
input port |0). Which detector will register the photon and with which probability?

15
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Hint: Consider the setup where the input
and output ports are hooked up in one of
the arms of a Mach-Zehnder interferometer.

D

It

Figure 8.2: Mach Zehnder interferometer for bomb testing

(¢) (2 Punkte) Design a scheme that allows you — at least part of the time — to decide whether
a room has a bomb in it without blowing it up. If you iterate the procedure, what is its
overall success rate for the detection of a bomb without blowing it up?

Next we assume that the two beam splitters in the interferometer are different. Say the first
beamsplitter reflects incoming light with probability r and transmits with probability t =1 —r
and the second one transmits with probability r and reflects with probability ¢. This makes
the effect of the beamsplitters manifest as

(d) (3 Punkte) Would the new setup improve the overall success rate of the detection of a
bomb without blowing it up?

There exists a scheme, involving many beamsplitters as shown in figure 8.3.

Figure 8.3: Perfect quantum bomb tester
This has the effect of
cosf isinf
B = <isin9 cos@) '
This scheme utilizes something called “quantum Zeno effect”.

(e) (5 Punkte) Try to work out the value for 6 such that the success rate for detecting a
bomb without blowing it up approaches 1!

16
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9 Coupled Oscillator

17 Punkte Enrico Arrigoni, TU Graz

pk pk

Consider two classical particles each with mass m connected with each other and to the two ex-
ternal fixed points via springs as indicated in the figure (which shows the equilibrium position).
k and pk are the spring constants. The particles can only move in the horizontal direction.

(a) (2 Punkte) Determine the frequencies of the modes of the oscillation. For this purpose it
might be useful to rewrite the equations of motion in terms of x; + x5 and xy — x».

(b) (2 Punkte) Determine the time evolution of their coordinates (deviations from the equi-
librium positions) z1(¢) and xs(t) with given initial conditions

xl(O) =X 132(0) =0 .Tl(O) = IQ(O) =0

9.1 Quantum mechanical case

Consider now the quantum mechanical case. We take here p = }1.

(c¢) (3 Punkte) Determine the ground-state energy of the system, as well as the expectation
value < 22 > in the ground state.

9.2 Quantum thermodynamics
The quantum mechanical system (again p = 1—11) is in equilibrium at temperature 7" (you can
work in units where the Boltzmann constant kg = 1).

(d) (2 Punkte) Determine the internal energy U (average value of the total energy) of the
system.

(e) (2 Punkte) Evaluate this explicitly for large temperatures, carry out a Taylor series in

1/T up to order T'. Determine the heat capacity C' = %% in that case. (n = 2 is the
number of particles)

9.3 n particles
k k k k k k

17
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We now take p = 1 and consider the case of an arbitrary number n of particles. We start
again with the classical case.

(f) (3 Punkte) Find the eigenfrequencies in this case

Hint, Ansatz: z,(t) = ReAe™' sin(kr),
where r equals the index of the masses. You might find the following relation useful
sin(k(r £ 1)) = sin(kr) cos(k) + cos(kr) sin(k) (9.1)
9.4 n — o particles, quantum thermodynamics

Consider now again the quantum mechanical case at temperature T' for n — co.

(g) (3 Punkte) Determine the heat capacity C' = £95 of the system in the low-temperature

limit (lowest nonvanishing order in a Taylor series in T').

0 2
Hint: J vdr _ 7
g e —1 6

18
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S1 Bob der Briuckenmeister

13 Punkte
(a)
ds® = dx* + dy?
= dz” (1 +y"))
ds = dz/1 + y?
(b) Da das Seil eine homogene Massenverteilung besitzt kénnen wir dm = %m = dsp

schreiben. Damit gilt

F.(x+dzx) — Fy(z) =0
F, = const.
Fy(x +dx) — Fy(x) —gdm =0
Fy(x +dz) — Fy(x) = gpds
Fy(x + dw) — Fy(x) = gpdar/1 +y?
Fy(x) = gpV/1+ Y2

(¢c) Wenn ¢ der Winkel zwischen Tangentialvektor und z-Richtung ist, so kann sehen, dass

dy
t <
an(p) = -~
_ Ey(z)
F,
Fy(:[") = Fa:y,
F;(x) = Fy.

Vergleicht man dies mit der Losung aus (b), so erhélt man

Foy" = gpv/1 +y?

n_ 9p

_ J7 1 /2

Y F, +y
= A\/1 + ¢y
(d) Die Losung der Differentialgleichung zweiter Ordnung ist
2(x) = y'(x)
2 = A1+ 22
I dz
V14 22dx

arcsinh(z) = Az + B
z = sinh(Az + B)

1
y=7 cosh(Az + B) + C,

20



Ty

IPauli)

wobei wir das Integral gelost haben indem wir

z = sinh(u)
dz = cosh(u)du
V1 + 22 = 4/1 + sinh®(u)
= cosh(u)

cosh(u

J o=

=Uu

= arcsinh(z)

r

szds

rz0/2

=] deisy?

—xz0/2

rT0/2

= J drA/1 + sinh(Az + B)2

—xz0/2

1 1
=~ sinh(Azo/2 + B) — 1 sinh(—Azy/2 + B)

1
y(—x0/2) = 1 cosh(—Azy/2 + B) + C

1
y(xo/2) = " cosh(Azg/2 + B) + C

Subtrahiert man die zwei Gleichungen voneinander sieht man, dass

0= %cosh(Axo/2 + B) — %cosh(—AxO/Q + B)

~B=0,

was man folgern kann, da cosh(—z) = cosh(z). Daher gilt fur die L

21
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1
L = —sinh(Axy/2) — 1 sinh(—Ax/2)

1
A
~ sinh(Axo/2)
Zsm T
2 (Ax A3x0
YalTy
)
Lo\
To x3
Lopy
2 (L
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S2 Kernfusion: Bewegung geladener Teilchen im
Tokamak

13 Punkte

(a) Wir schreiben Gleichung 2.1 auf und sehen

Uy Uy 0 Fy
m| v, | =q| vy, | x 0 |+ 0

U, v, B 0

mu, = quyB + F

mv, = —quyB

mv, = 0 — v, = const.

Wir leiten nochmal ab und erhalten

mu, = quyB
q2 BZ
= — UI
m

q
m2

QBQ

0=uv, + Uy

vy = acos (wt) + bsin (wt),

gB

mit w = =,
m

mu, = —qu, B
m ..
E/Uy = Uy
B F
= q—vy + —
m m
qB ) FqB
) T e
Uyn = ccos (wt) + dsin (wt)
Fy
v [ —
yp qB7

wobei wir die partikulare Losung mittels eines Polynomansatzes gefunden haben. Um die
Konstanten in Verbindung zu bringen nutzen wir

Uy = —WU,
w (—csin (wt) + dcos (wt)) = —w (acos (wt) + bsin (wt))
—a=—d

—b=c.

Damit haben wir

23
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vy = acos (wt) + bsin (wt)

F
—b t) — asin (wt) — —=.
v, = bcos (wt) — asin (wt) e
(b) Wegen den Anfangsbedingungen sehen wir
(00 =0—>a=0
Fy
Uy(o)zvg_q_B_)c_Ug
UZ(O) = U|| —> UV, = U||
Uy = Vg sin(wt)
Fy
- 1) — =
vy = vy cos(wt) B
Yg
— %8 (1 — cos(wt
x w< cos(wt))
Vg . FJ_
— Egin(wt) — —=t
y="- sin(wt) o
z = U”t.
Wir sehen also, dass der Gyrationsradius vg/w = %. Die Elektronen gyrieren also

mit einem kleineren Radius als die Ionen (m. < m,). Zusétzlich geht der Drift die

entgegengesetzte Orientierung.

(c¢) Die homogene Losung beschreibt das Gyrieren der Teilchen um die Magnetfeldlinie. Die
partikulidre Losung den Drift der durch externe Krafte (die normal auf das Magnetfeld

FxB

stehen) entsteht. Allgemein gilt daher vp =

qB? "
(d) Es gilt
mvﬁ A
sz = ?e
sz x B
V —
mvﬁ A
" RgB *
(e) Es gilt
B, v,
By vy
B,
Vy = Vp—5—
By
B,
~ U -,
1B,

die Geschwindigkeit in z-Richtung ist daher die Summe von v, und vp
ist muss daher

24
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0= v 2z M
= V|| —
"B, " RqB
BZ o mu|
B,  RqB’
(f) Da g%’” « 1 ist
Ldr vp sin(#)
rdf @ + vp cos(6)

1%

. . [ . B
Die Teilchen oszillieren also zwischen ryexp (—#j}“) und 7gexp (

Bup
BQUH :

To iTo

sin(0)

25
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S3 Gezeiten

13 Punkte

(a)
GMym GMym
Fgra(dM - RE) - Fgra(dM) - (dM _N;%E)Q o dzM
M

(1 - Re/dv)? &

M, M
~ G i <1 +2@) G o
&, dat &2,
 2GMmRy
- =

Mittels der Taylorreihenentwicklung

(x—1D)%=1—-azx...

(b) Der Massenmittelpunkt der Erde ist im Kréftegleichgewicht, die Gravitationskraft des
Mondes und der die Fliehkraft der RoR sind daher

Fgra +F,;=0
sz = _Fgra
GMym
M

Wenn wir uns Abbildung 3.1 anschauen sehen wir, dass

GMMm
Y
GMMm

—Voy = -V

rcos (6u)

(¢) Der Abstand [ vom Massenmittelpunkt des Mondes bis zu einem Punkt auf der Erdober-
flache bei (r, ) kann man schreiben als
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[ = \/7“2 sin (Ay)” + (dy — 7 cos )2
= A/1% + dZ; — 2dyyr cos (Oy)

= dM\/l + 1r2/d3; — 2r cos (Onr) /du

M,
(I)gra - G le
B GMMm
dyyv1+ A
~ GMym - r? +2rcos(9M)_1 R A2
s 202, 2 2\ 72 2
AZ ~ 492 COS2 (Om)
dyy
o ~ GMym - r? | reos (Om) N 312 cos (An)”
T dy 242, dy1 2d2,
(I)M(eMa 7“) - (I)gra + q)Zf
G Mym 2 rcos(By)  3r?cos (Ay)’ G Mym
r — 1—
" ( 2, + an + 22, + 2, 7 cos (Oyr)
GMym [ r2 ]
= — 1+ 3cos (bhy)” — 1
G Mym [ r? ]
= — 1+ —-(3cos(20M)+1)].

Wobei wir Taylorreiheentwicklungen genutzt haben und Terme die mit (dLM)4 oder hoher
Ordnung skalieren weggelassen haben.

(d) (1 Punkt) Die Equipotentialfliche dndert sich um mgh. Nachdem wir den Nullpunkt des
Gezeitenpotentials in den Massenmittelpunkt der Erde gelegt haben, kénnen wir daher
fiir r = Rg schreiben, dass

0= mgh(@M, 95, RE) + (I)M(QM, RE) + (1)8(95, RE)

GMy R GMs R
— 20 1 —
Iy I, (3cos (20y) + 1) + dsg 12

h(Onm, 0s) = (3cos (26s) + 1)

27
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Figure S3.1: Konstellationen fiir eine Springflut, links, und eine Nippflut, rechts.

h(By = 0°, 05 = 0°)

~19
h(Oy = 0°, 05 = 90°)

Der zeitliche Abstand zwischen Ebbe und Flut betragt zirka 6 Stunden. Entweder befiillen
wir unser Kraftwerk zur Flutzeit oder, 6 Stunden spéter, lassen das Wasser zu Ebbe aus
dem Kraftwerk flieSen. Der Tidenhub ht, der Hohenunterschied zwischen Ebbe und Flut,
betragt durch den Mond 0.54 m. Die Hohe um die sich der Massenmittelpunkt beim
Benutzen des Kraftwerkes dndert ist jedoch nur hr/2. Daher haben wir eine Leistung

von

©2%6 %3600
~ 81 GW.
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S4

A glimpse on quantum cryptography: Solutions

1) Most easily by direct inspection:

S e lo — _ h fcos(0) sin(0) cos(0/2)
(S-eu)low =+1) 2 (sin(&) —COS(@)) <sin(9/2)) (S4.1)
I (cosBcos(0/2) + sinfsin(6/2)
P (Siﬂ@COS(@/Q) - cos@sin(@/?)) (542)
_h ((cos2(0/2) —sin?(0/2)) cos(0/2) + 2sin(/2) cos(0/2) sin(é’/Q))
2 \ 25in(6/2) cos(6/2) cos(8/2) — (cos?(0/2) — sin?(0/2)) sin(ﬁ/(Z) |
S4.3
D (cos*(6/2) + sin®(6/2) cos(6/2)
<sin(9/2) cos®(0/2) + sin3(9/2)) (544)
(

2

_h [cos(0/2)

S 2 <sin 9/2)) (845)
And similarly for the other eigenvector.

The probability for finding eigenvalue 2 is pi = [(o, = +1]o. = +1)|* = cos?*(6/2), and
the system is afterwards in state |0, = +1). The probability for finding eigenvalue —g” is

py = [{o, = —1]o. = +1)|* = sin*(§/2), and the system is afterwards in state |0, = —1).

First possibility: We had |0, = +1) after the first measurement. If we want to go back
to |o, = +1), we get the probability p/ = [(c, = +1|o, = +1)|> = cos*(§/2). The total
probability for this path is p; = plpl = cos*(6/2).

Second possibility: We had |0, = —1) after the first measurement. Now we get pf =
[{o. = +1|o, = —1)|> = sin?(6/2). This path gives probability p; = p;p = sin*(6/2).
Since the two paths are additive, the total probability to get |0, = +1) back after the
second measurement is P, (#) = cos*(0/2) + sin*(6/2) = (1 + cos?(0)).

Gives the same probability as before, P._ = P, .

The identities can be inverted to |o, = +1) = %ﬂaw = +1) + |0, = —1)). Inserting this
into the spin state above, and multiplying out all tensor products, we arrive immediately

at:
1

|><>=\/é

That means it has both in z and in x projection the same form.

(Jot = +1)®|o = +1) + |o¢ = —1) @ |0 = —1)) (S4.6)

Alice measures either —1—2 or —g, irrespective of the axis. Since the state |x) has equal
contributions from |0¢ = +1) and |0¢ = —1), the probabilities for the two states is the

same, i.e. p = 1/2 for all possible measurements.
The states after the measurements are just the projections to the eigenstates:
z axis, +2: |09 = +1)® |0t = +1)

S0

2 axis, -y lo? = -1 ®|c? = -1)
x axis, +?: 02 = +1)®|0% = +1)
z axis, —5: [0% = —1) @0l = —1)
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6)

10)

If the two axes are the same, e.g. the z axis for Alice and Bob as in case (a), the
results is straight forward. If Alice measures +§, Bob measures also —|—§ with probability
p = 1.0, see first line above in point 5). If Alice measures —g, Bob measures also —g with
probability p = 1.0, see second line above.

If the two axis are different, it works as follows, e.g. for case (b): Alice measures along
z axis. Irrespective of what she measures, the state for Bob is polarized along z. But
Bob measures along x, that means he will get both possible measurements ig with equal
possibility p = 0.5. This follows from |o. = +1) = (|0, = +1) + |0, = —1))

Case (c) is equivalent to case (b), and case (d) equivalent to case (a). That means that
they will get the same results only if they measure in the same direction.

This is exactly what we have calculated before. One can interpret the spy as an intermedi-
ate measurement. The measurement of Alice prepares the spin for Bob in z direction. The
spy measures in a different direction, and Bob again in z direction. According to our result
above, the probability that Alice and Bob find the same result is P(6,) = 3(1 + cos®6,).

We have P(0) = 1.0 and P(7/2) = 0.5. If the spy chooses 05 = 0, i.e. z axis, or 05 = 7/2,
i.e. r axis, at random, the expectation value that Alice and Bob find the same value is

p = 3/4.

If Alice and Bob measure in the same direction, all results/measurements must be the
same. If just a single result is different (in an ideal experimental setup), there must be a

Spy.

The only chance for the spy to remain invisible is that Alice and Bob always find the
same result when they choose the same axis for measurement. For each pair of spins,
there is a chance of 1/2 that they choose the same axis in their measurement. From
the expectation value above, the probability that the results of Alice and Bob differ is
1 — p = 1/4. Note that the spy is detected if the results differ, which occurs with total
probability of 1/2 « 1/4 = 1/8. With probability 7/8 he remains invisible.

On first sight, this looks very inefficient and insecure. But the spy needs to stay invisible
for ALL pairs of spins in the subset N’. The probability that the spy remains undetected
is therefore (7/8)N". For N’ = 200 we get a probability of only (7/8)? ~ 2.5 x 1072 that
the spy remains invisible.
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S6 Die Lichtgeschwindigkeit ist konstant, big deal?
6 Punkte

(a)

2
2 2 2 2 2.2 2 2 _ .2 2
tyc _xz—yz_ZQZC’Y(tz—?) =7 (w2 —vta)” — Y5 — 25

Yy — 2
2 ct c2 c2 c? 2 2
2 2
v 1 v
2.2|.2 2 2 2
=cy || -5 )|t l—-—= |-y —=
|:2(C4 CQ) 2 CQ 2 2
"2
oz — 1 202_1’2 2 2
= Ty 2 2 2 T Y2 T 2

D3 2
\V Ty t Yy + 2y _ .

t

Obwohl die Lichtgeschwindigkeit konstant ist, verandert sich die Wellenlénge A und damit
auch die Frequenz f einer Lichtwelle unter der Lorentztransformation.

(b) t' = 0 korrespondiert zu

Fur den Punkt o wére dies also

Damit ist

v\ v\
xo(t = 0) :372@:70_2)_0‘ —

CQ
&

Analog kann man zeigen, dass x1(t = 0) = 0, daher ist
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Y1
A1)
703

(¢) Wir benutzen den Subskript 1 um das Photon welches sich in positive z-Richtung bewegt
zu beschreiben und den Subskript 2 fiir das in negative z-Richtung bewegende Photon.

-~ f
A
-~ f
- )

(d) Im gestrichenen System werden zwei Photonen mit dem gleichen Impuls in gegeniiber-
liegende Richtungen Photonen geschickt, daher éndert sich die Geschwindigkeit der Masse
nicht und vg, = v;, = v. Wir schreiben die Impulserhaltung um, wobei darauf zu achten
ist, dass wir Photon 2 in die negative x Richtung senden, daher ist der Impuls negativ
und wir schreiben

v (Mgy — Min) = — (p1 + p2)

vAm=—<h—fl—h—fl>

Cc C

b
ey I+ 1-2

|

Amc? = —2hf'y.

Die Energie, die der Korper verloren hat ist

AE = —hfi = hf

hf' 1 1
:_;i( . )
vy \1-%2 1+

_ hf[1+e+1-2
v\ s

Masse ist also eine Form von Energie AE = Amc?.

12 qe
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S7 Ein Atom im Kifig

11 Punkte

Frage (a): Was sind die erlaubten Werte fiir &£ um die Randbedingungen zu erfiillen? Was
muss der Parameter D(k) sein, damit die Maxwellgleichung

VxB- éE (S7.1)

erfillt ist?

Losung (a):

Erlaubte Werte fiir k: Um die Randbedingungen zu erfiillen, die besagen, dass das
elektrische Feld E an den Réndern des optischen Kéfigs (bei x = 0 und x = L,) Null sein muss,
folgt, dass:

k=— n=123...

T

Das sind die erlaubten Werte fiir £. _
Bestimmung von D(k): Die Maxwell-Gleichung V x B = 4 E fiihrt zu:

1
D(k) =~

Frage (b):

Die Energie im elektromagnetischen Feld ist gegeben durch

H = Jﬂ la‘oEQ + iBQ] (S7.2)
2 Ho

Zeige, dass man obige Gleichung als

H=Y] [ ng] (S7.3)

schreiben kann, wobei Q) = A(k)A;, sei. Bestimme .

Losung (b):
Zunéchst betrachten wir die Ausdriicke fir das elektrische Feld E und das magnetische Feld
B:
r) = ) Ag(t)sin(kx)é,, (S7.4)
k
r) = > Ag(t)D(k) cos(kz)e.. (S7.5)
k

Die Quadrate der Felder sind:
2
E(z)? = <Z Ag(t) sin(kx)) :
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B(z)? = (2 Ap(t)D(k) cos(k:x)) .

Integrieren wir diese Ausdriicke iiber den Raum, so erhalten wir (mit Hilfe von Orthogonal-
itdtsbedingungen der Sinusfunktionen von unterschiedlichen k’s):

Lo Ly
J E?dg ;Ak(t)QJ sin?(kz) dz — ; %Ak(o?,

0 0

Ly L. .
cos?(kx) dx = “Z A (1)’ D(k)?.
0 o) e = 3 A0 DY

JL”C B du = ;A’k(t)m(k)?f

Erinnern wir uns daran, dass D(k) = —7% und ¢® = —801#0, so gilt:
1
2
DY = o

Einsetzen in die Energieformel ergibt:

1 2 Ly A 2
H = 5; [aoLxAk(t) + WAk(t) ] .

Umformulierung in harmonische Oszillatorform:

QQ w2Q2
w-p|¥

wobei

veoLy
OQp = Y20T2 AL — ke
w

Damit ist (k) = Y=k,
Frage (c):

(¢) (2 Punkte) Zeige, dass der Hamiltonoperator aus Punkt (b) durch

1
>) (S7.6)

H = Z hw(a; a;, +
k
gegeben ist und berechne danach den elektrischen Feldoperator E, indem du Qk durch
Erzeuger und Vernichter ausdriickst und in Gleichung S7.4 einsetzt.

Quantenmechanische Umformulierungen und Lo6sung: Die Umformulierungen fiir
die Quantisierung der Hamiltonfunktion sind wie folgt:

. 2 .
Qr — —lhTQk, Qr — Qk

This substitution transforms the Hamiltonian to:

R wk)? Ay
H=5ag* 2 @
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The definitions for the creation and annihilation operators are given by:

0
\/ Qk_u 5 0n

The expression for the product of the creation and annihilation operators, and its reformu-
lation into the Hamiltonian, is:

N ho * wk) - 1] 0 4
+ _ P
U T onm oz T 2n @3 [an’Qk]

~

1
= (afay + §)hw(k;) =H
Fiir den elektrischen Feldoperator E(r), basierend auf Gleichung S7.4, erhalten wir:

ZAk sin(kx)eé Z)\ LQx(t) sin(kz)e,

wobei Qy (t) durch die Erzeuger und Vernichter ausgedriickt wird:

Qr(t) = m(a; + a; ) sin(kx)

Einsetzen ergibt:

hw(k), . .
= Z Tﬁo(ak + a; ) sin(kx)e,

Frage (d):

Bestimme die Koeffizienten ;" und ~; fiir die Interaktions-Hamiltonfunktion des Zweiniveausys-
tems im elektromagnetischen Feld.

Losung (d): X
Die Interaktions-Hamiltonfunktion H; ist gegeben durch:

Hy = () T@—é@ (o +a) &y (Zwawwavwa»wao ,

k

was umgeschrieben werden kann, da ¢ und ¢’ jeweils nur iiber ground state g und excited
state e summieren. Daher sind die elemente wo o = ¢’ null.

. hw(k) N 4 . . .
i = Y ey o (o} +a5) & (Wlilio™ + (buliliyo)
k €T
wobei w(k) die Frequenz der k-ten Mode ist und é, die Richtung des elektrischen Feldes entlang
der y-Achse angibt.
Die Koeffizienten 7; und 7, lassen sich nun durch Vergleich mit der Hamiltonian in der
Angabe ableiten. Sie sind durch die folgende Ausdriicke gegeben:

0 = ey e i) sin(ho),
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hw (k)
2€0Lm

T = —€

(e|T|1)g) sin(kx).

Diese Koeffizienten stellen die Kopplungsstiarken zwischen den atomaren Ubergéingen und
den Moden des elektromagnetischen Feldes dar. 0% = |¢.)(¢,| und 0~ = |9, )(¢.| sind die Auf-
und Absteigeoperatoren, die die Ubergiange zwischen den beiden Zustdnden beschreiben.

Frage (e):

Unter der Annahme, dass hw(k;) = €., bestimme die Zeitentwicklung von ¢,(t) und c.(t)
und interpretiere die Ergebnisse.

Losung (e):

Unter der Annahme, dass die Resonanzbedingung fw(k;) = e, erfillt ist, betrachten wir die
Zeitentwicklung der Koeffizienten c,(t) und c.(t) im Kontext des atomaren Zweiniveausystems
und seiner Wechselwirkung mit einem elektromagnetischen Feld. Der Hamiltonoperator H fiir
das Gesamtsystem ist gegeben durch:

) 1 -
H= Zk] hw(k)(atay + 5) + eltbe)(el + Z %o ) o | H [t )(ther]-

Die gekoppelten Differentialgleichungen fiir die Entwicklung dieser Koeffizienten sind:

iy = Wy |Olag, H|tbg)af, |00, + (&g |Olay, H|tbe)|0)e.,
ihée = (el Ol H[tg)ax, [0)cq + (e[ H[the)]0)ce.

Diese Gleichungen kénnen durch die Matrixform

HERIEmIH

vereinfacht werden, wobei a,, und fiw die Energiebeitrage und v+, v~ die Kopplungsterme sind.
Um die dynamische Entwicklung weiter zu vereinfachen, fithren wir neue Koeffizienten ein:

ithwt thwt
ag =€ h C4 Q=€ I C,

wobei sich die Gleichungen fiir a, und a, reduzieren zu:

?

h

+
v ag.

ag + ag(—iw) = —iwa, + 7 a. (E) , e+ Q(—iw) = —iwae —

Durch diese Transformation erhalten wir eine harmonische Oszillation zwischen den Zustdnden,

beschrieben durch:
ay(1) = a,(0) cos (51) + a.(0)sin (71)

a.(t) = a.(0) cos (%t) — a4(0) sin (%t) .
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S8 Quantum Bomb Tester

12 Punkte

(a) Scenario Without Bombs
Using two 50/50 beam splitters, a photon entering the interferometer in state |0) undergoes

transformations such that: .
B 1 4 2 .
B = 7 (z 1) , B =1iX,

and thus,
B?0) =iX|[0) = |1).

The output is invariably detected at D;, demonstrating constructive interference towards |1)
and destructive towards |0).

(b) Scenario With Bombs

If a bomb is present, it acts as a quantum measurement device, altering the photon’s pathway
probabilities:

1
Bioom = 2 leading to an explosion,
1
Pp, = T photon detected at Dy without explosion,
1
Pp, = 7 photon detected at Dy with uncertainty.

Detection at Dg confirms the presence of a bomb without triggering it, necessitating experiment
repetition when D; is detected.

(c) Implications of Photon Detection at D, and D,

If we measure a photon at Dy, we know for certain that:
e the bomb did not explode since we detect the photon;
e the bomb must be in the room because otherwise the photon would be measured at D;.

Observing a photon at Dy thus allows us to detect the bomb without exploding it!

On the other hand, measuring a photon at D; can happen in both the cases of no bombs
and with bombs. Hence, if we measure a photon at D, we are uncertain about whether there
is a bomb and we will repeat our experiment.

The overall scheme if there is a bomb is given by:

Pooom = 3 BOOM, terminate

Pae = % bomb idle

Pp, =%  measure |0y — bomb detected, terminate.
Pp, =%  measure |1) — uncertain, repeat.

45



Ty Pauliy

At each repeat we have Pyoom = % probability of setting off the bomb and Pp, = i probability
of detecting the bomb.

In the limit of infinity trials, we will terminate in one of the two outcomes above. The
probability of the two terminating options is determined by their relative probability. Hence,
the probability of the bomb being successfully detected if it exists is:

Pp, : 1

Pboom+PD0 a %4‘% _3

On average, two out of three bombs will explode and one will be detected successfully.

If the room is empty, we always detect the photon at D; and the scheme does not terminate.
The probability for the detection of k successive photons at D; in the presence of a bomb is
(}L)k For sufficiently large k& we can thus conclude that it is highly unlikely to have a bomb in
the room and terminate the iteration.

(d) Advanced Beam Splitter Configurations

Can we do any better with beam splitters beyond the 50/50 type? More general beam-splitters
will have a transmission probability 7" and a reflection probability R = 1 — T if we measure
right after the beam splitter. The matrix form (gate form) of such a general beam splitter is
given in Sec. 3.2 of the lecture notes as:

B = VT([0)0] + [1(1]) + iVR(0)1] + [10]) = ({% ﬁ)

Now we will replace the two 50/50 beam-splitters in our set-up with one that has 7" = t and
another that has T'=r =1 —t:

In such a case, following similar arguments as before, we then have:

No bombs:
With input state |0), our circuit is simply

Hence, we will measure |1) with 100% probability.

With bombs:

The bomb acts as a detector that essentially performs a measurement after the first beam-
splitter. Overall, we have:

Proom =1, BOOM, terminate
Paqe =7,  bomb idle
Pp, =rt, measure |0y — bomb detected, terminate

Pp, =72, measure |1) — uncertain, repeat

46



Ty Pauliy

At each repeat, we have Poom = t probability of setting off the bomb and Pp, = rt probability
of detecting the bomb. In the limit of infinity trials, we will terminate in one of the two
outcomes above. The probability of the two terminating options is determined by their relative
probability. Hence, the probability of terminating in the bomb being successfully detected is:

Pp, oot
Pboom+PD0 t+rt 1+T

To maximize the probability of detecting the bomb, we have r — 1, and 1 — % Note that,

this also means the probability of termination in each run is infinitesimal and we require infinite
trials to terminate, i.e., most of the measurement will end in the ‘useless’ |1).

(e) Utilizing the Quantum Zeno Effect for Improved De-
tection

We will now employ a series of beam splitters, each characterized by the matrix:

By = .CO.SH isinf =1cosf +iX sinf = X,
isinf cos®

Here, T = cos?# and R = 1 —T = sin® . We utilize an even number of beam splitters, N, each
set with 0 = 7% + 7.
Scenario Without Bombs

In the absence of a bomb, the system behaves as follows:
Bn(6) = eN%% = 1cos(N) + iX sin(N6),
where N@ = 2 + NZ = (n + 3)« for some integer n, as N is even. Therefore,
By (0) = 1cos(N) +iX sin(NO)oc X,
leading the circuit to behave like an X gate, thus the photon always exits as |1) when input is
0.
Scenario With Bombs

With a bomb present, interference is destroyed, forcing the photon to potentially follow a path
that includes all reflections:

_ pN _ o 2N/py _ 2N (T f)z 2N<i>
Ppo =R sin“" (#) = sin <2N+2 cos™ 57 )

As N increases,
2

B 1/ m\2 4 N m _9

which approaches 1 as N — co. Thus, for large N, the system will always measure |0) if a bomb
is present and |1) if not, providing a perfect distinction without causing the bomb to explode.
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To sum up, the bomb is just a detector, our question turns into, can we know that whether
there is a detector present without setting off the detector? The answer is yes, and the way we
do this is making use of the fact that a detector will destroy interference by its mere presence
even without interacting with the particle. Hence, we can map the question of whether there is
a detector or not to whether we have observe a interference pattern or not. This is very much
in the same spirit as the double slit experiment.
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S9 Coupled Oscillator

17 Punkte Enrico Arrigoni, TU Graz

Consider two classical particles each with mass m, connected to each other and to two external
fixed points via springs as shown in the figure (which represents the equilibrium position). The
spring constants are k for the internal spring and pk for the external springs, where p is a scalar
multiplier.

Frequencies of Oscillation Modes

To find the modes of oscillation, we start with the equations of motion and apply the suggested
transformation to variables X = a1 + o and Y = x; — x3:
Original Equations:

mi, = —pKx; — K(r1 — x9),
miy = —pKxy + K(x1 — x2).
Substituting X and Y, and simplifying, we find:
mX = —pKX (Symmetric mode),
mY = —(2K + pK)Y  (Antisymmetric mode).

Solving these equations, we derive the frequencies w:

K
wx = “p_ (Frequency for X),
m

2 K
wy = CRaVLS (Frequency for Y).
m

Time Evolution of Coordinates

Given the initial conditions z1(0) = xg, £2(0) = 0, and #1(0) = £2(0) = 0:

X(0) =z, Y(0)=u1z0, X(0)=Y(0)=0,

X(t) = xgcos(wxt),

Y (t) = xq cos(wyt),

5(t) = %(X(t) FY (1) = 22 (cos(wxt) + cos(yt),
2a(t) — %(X(t) Y (1) = 2 (cos(eoxt) — cos(eoy).

9.1 Ground-State Energy and Expectation Value
(c)

Assuming a harmonic potential, the Hamiltonian for each mode is quantized:
~ hwx  hwy

H ==X
2+2
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The ground-state energy, Ejy, of non-interacting harmonic oscillators is the sum of the zero-
point energies of each mode:

1 1
Ey = -hw —hw
0= 75 X+2 Y

To find (x?) in the ground state, use:

h
_.I_
2mw x  2mwy

<5U1> =

9.2 Quantum Thermodynamics

The quantum mechanical system (again with p = i) is in equilibrium at temperature T' (you
can work in units where the Boltzmann constant kg = 1).

(d) Internal Energy U

For a quantum harmonic oscillator, the partition function Z for a single mode with frequency
w at temperature T is given by:

0

w
_ - fﬁfw n+
R

This can be simplified to:
o

e}
_ B —Bhwy\n
Z =5y (e = ——

n=0

The internal energy U is then given by:

Oz 1+ 1
- B 2 efw—1

For two modes with frequencies wy and wy, the total internal energy U is:

1 1 1 1
UZ“X(TW—_JW“Y(TW—_J

(e) High Temperature Limit and Heat Capacity C

At high temperatures (T' — ), § — 0, and using the Taylor expansion of ¢ ~ 1 + x:

11
e —1 " Bhw

Thus, the internal energy U approximates to:

1 1 1 1 1 1 1
U~ MX( ﬂhwx)+hwy (§+ﬂMy) :E(E—’_E)

The heat capacity C' at constant volume is:

C'—(?—U—k‘B(i-i-i)

oT wx Wy
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9.3 n particles

We now take p = 1 and consider the case of an arbitrary number n of particles. We start again
with the classical case.

(f) (3 Punkte) Find the eigenfrequencies in this case.
Hint, Ansatz: z,(t) = Re{Ae™'sin(kr)}, where r equals the index of the masses. You might
find the following relation useful:

sin(k(r £ 1)) = sin(kr) cos(k) + cos(kr) sin(k)
Solution:
X, = Re{Ae™'sin(kr)} = RRe{A,e™'}
X = w0(2xr Tyy1 — Tp_1)
—w?A, = —wS(QAT — A=A
A, = Asin(kr)
sin(k(r £ 1)) = sin(kr) cos(k) + cos(kr) sin(k)
A1 + Aoy = 2Asin(kr) cos(k)

w2

— =2(1 —cos(k)) = w(k)=woy/2(1 — cos(k))

Wo

Boundary conditions Xg = X,,,1 = 0:

Xo =r fulfills X, as sin(k(n+ 1)) =0

N L S
n+1

9.4 Quantum Thermodynamics again

(g) (3 Punkte) Consider now again the quantum mechanical case at temperature 7" for n — oo.

Hint:
foo vdr  w°

=% (g ye) o=t

1 1 dh
Y= f”+ dk =
n

p

ko
(E) = f Mﬁwk_lﬂ

Solution:

For g — T only small w contribute:

W(m) = wo/2(1 — cos(A)) ~ wop[m(1 — 1+ %2)

%u}o‘]{?

51



Ty Pauliy

(B = Joodk Bk

7 ebhwok — 1

0

f dex 7w (kgT)?
B3hw07r 0 er — 1 6 h(,do
7 k%T

Cy = —
v 3FLWO
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